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frfaRaa & & fore 371 o a1 vgelt IR SN foRarm T o 7
ATHYTHTT T

In which of the following age copper was first used ?
Chalcolithic Age

Traterfiga § 9 forg v W wem sig grfifa o1 e fomam mam e 2
TR

The first Buddhist Council was held at which among the following places ?
Rajgir

frafafaa 4 9 %9 98 =fe @ e am <ammte et o or 2
e guTe 3N

Who among the following is the person whose name was also ‘Devanampiya Piyadassi’ ?
Mauryan Emperor Ashoka

TR R e S (Fem-gu) =1 T qeer 1 SIS 1 ®m % THY T 9gd Al
BT |
.

The pietra dura or coloured stone inlay work on marble became very popular in the days of

Shahjahan

ST $%2 SFedT U 1 T g8, T8 R R Fefeiaa 5 & foheest wmem o ¢
T TH1E

When the East India Company was established, India was ruled by whom among the
following ?
A Mughal Emperor

YgH-TTHEH 3Terer feferRaa o & fohees g 3 fohan mam o 7
forraT wra

The Bhoodan-Gramdan movement had been started by whom among the following ?
Vinoba Bhave

TS Tk AT o S, Tfeiiad § @ fopa aranfoes wrishat = et i ATgret i e
&N b HITA o W& o 1T TSiT fohaT &1 ?

HAATCS TSI

During the Dandi Salt March, which among the following social activist had persuaded
Gandhiji not to restrict the protests to men alone ?
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Kamaladevi Chattopadhyay

TgaTe shi vgelt TaE Afveafh frefofed @ @ fopm shifa & @ gs 2
WRIEE! ShIfT

The first clear expression of nationalism came with which among the following revolutions ?
The French Revolution

TN o fferfaa o @ forg srffarm < sror 98 & e wia w1 fomfor gam 2
AR FLHR A=, 1935

Which among the following Acts of the Government led to the creation of the Sind Province
from Bombay ?

Government of India Act, 1935

10.

TT&g Ig 1 A Tl feeett fepem femm o
U =g 9

Who gave the famous battle cry ‘Chalo Dilli’ ?
Subhash Chandra Bose

11.

Torga < ge@ 3= T A1k TR & e fRa e |
quTeT 3 forswa

Mount Everest — the highest peak in the world is located between
Nepal & Tibet

12.

frferfiga o & wa # “srergar h1 Tl 1 g FROT R R 7
3 AT ¥ ST 3 AYHE

Which among the following is the main reason for “October heat” in India ?
High temperature associated with high humidity

13.

TR T a0 iafee @e a0 (GMT) & IME |
51 a2
2
Indian Standard Time is ahead of Greenwich Mean Time (GMT) by .

5l hours
2

14.

FrfeTRaa o & S SEET foawor o1 TR i aTeT 3T e A8 & 7
T sl SuASEAr

Which of the following is not the economic factor for influencing the population
distribution ?
Availability of water

15.

freferfiga o @ fore 7€) 1 TR 1 3 HET @R ?
HiE
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Which of the following rivers is known as the ‘Sorrow of Bihar’ ?

Kosi
16. VR 3! GFaETd A1 ol 3fad Tepid FHefeTRad § § forseh grI &1 718 off ?
g foehma aitsg
The final approval to the five year plans of India was given by whom among the following ?
National Development Council
17. ol oft foremmasiier relesrereen & wrfies <ot o, srferesrar wifafarfmt & 4 gafd
Bl 2 |
e
At the initial stages of any developing economy, the majority of activities belong to the
sector.
Primary
18. T=fcTiad ® | o9 &1 §RA ST shi T T Teedm o ?
75 Tt
Which among the following was a part of the green revolution strategy ?
All of these
19. Tr=fafaa § @ o6 w arftrfcos SeTd 2 2
fresht
Which of the following is not a Commercial Bank ?
SIDBI
20. Tr=feifaa § @ 6 @1 a9 & 61 U T o dad Teh IO I UG hich LATiUd
fpmmn g 7
i fm
Which one of the following public sector undertaking is established by passing a special law
under Parliament ?
Statutory Corporation
21. WA i He TR o fferiaa § & i e 72 € 7
TS o Tt
In the Union Executive of India, who among following is not included ?
The Chief Minister of States
22. % UTH HifeTeh 37T ! ] i 1 Wtk 2 |
04 4 MASTER




oI < 3R 3= <[

has/have the power to implement the Fundamental Right.
The Supreme Court and High Courts

23.

TR |, TER AHaTeesr 31 Fefofaa § o forg mamera o e g 7
& HATE

In India, The National Human Rights Commission is under which of the following ministry ?
Ministry of Home Affairs

24.

freaferitaa o @ frd forelt g s wew | 3= =maTerd wfud s w1 AR R ?

HHq

Who among the following has the right to set up a High Court in any Union Territory ?
Parliament

25.

FrfaRad 9 € M 91 38 WRA Sfa9™ § Sai= <AaTed hl T AR TS h TR H 7 ?

Which of the following article is about Establishment and constitution of Supreme Court in
Indian Constitution ?
124

26.

a1 @1 feferfiea 4 @ forg i 2 2
3G I

The colours of the stars depends upon which of the following ?
Its temperature

27.

Frrforfea 4 @ i =) fig ot anfifn @ fore e ? 2
gy g

Which among the following gases is responsible for global warming ?
Greenhouse Gas

28.

U HTe T o P TTRae B @ Tehd 37T bl STTerd heel 2 7
BES

Pneumonia affects which of the following part of human body ?
Lungs

29.

frferiad ® o F a1 gt QU AE @ ?
A

Which among the following is not a plant fibre ?
Nylon

30.

TG shifeR! T Fefaiad o @ fred s it 2 7
TSt

Plant cell wall is made up of what among the following ?
Cellulose

31.

(521 x 6.32) —2.9272 =
30
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(0.05)*+(0.41)> +(0.073)>
(0.005)% + (0.041)2+ (0.0073)?
100

32.

33.  40% A GHRI-93 X 9&d & 3 50% <afth GHR-93 Y 9ed @ | 10% sHfh el SH=R-
TA Ued 2 | ford safth @i 4 @ 8 GHRR U3 T8l ugd 8 7

40% persons read newspaper X and 50% persons read newspaper Y. 10% persons read both
newspapers. How many persons do not read any of the newspapers ?
20%

34. 5 UTOTTHT T A 46 8 3T TES IR T 45 2 | digar qRom &
The average of 5 results is 46 and that of the first four is 45. The fifth result is

50
35. /298116 ++/77.44 =
14.26
36. ‘wRM vee w1 Hg wfY faese wdsy |
g + RN

37. fopm fershoq ® wisg-gmm o1 7 - T TR R ¢
HaoE - Afge IR - Taeifera

38. foru forepca o aft vrec o warfam=h @ 7

gt Tgoft, wart

39. fopa forehe o @l foam-gm 2 2
dq - JUdd

40. ‘GITEA GATE M1 - GEER T AT 7
STENE Tt <ht Shed=T BT |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Last week Caroline went on her first deep sea fishing trip off the coast of Catalina Island. She had
always enjoyed fishing when she was a child but had never gone fishing in the ocean. Her dad
liked to fish very often. Her big brother Jack was never the outdoor type, so her dad took her out
often. One of his favourite spots was Lake Isabella, which was about two hours from their home.
She recalls how she and her dad would spend a long, leisurely day driving to the lake, and then
taking his small boat out on the water. It was quiet and peaceful for the most part. Those
memories remain some of her most cherished moments of her life. Caroline has a friend called
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Robert. On this day, Robert invited Caroline to join him on his company’s fishing trip. Robert
said it wouldn’t cost much but would be a lot of fun. He knew Caroline enjoyed lake fishing and
figured she would have a great time. “Okay”, said Caroline, and to the ocean they went.

The first thing Caroline noticed, however, was the motion. “Wow, this boat really rocks”, Caroline
told Robert. “Don’t worry about it. You will get used to it”, he said. The trip to the waters off Catalina
Island took about an hour. Caroline marvelled at how quickly she lost sight of the mainland. It was a
bit scary when she thought about how alone they were in this great ocean. Soon, it was time to collect
squid for bait. The small boat stopped in the water and the crew turned the bright light into the ocean
to attract the squid. Before long, thousands of squid rose to the surface and were collected for bait.
After about an hour, Caroline didn’t feel the rocking motion anymore. They were ready to fish.
Caroline caught her first ocean trout. It was a beautiful day.

41. Was Caroline’s brother an outdoor type ?
No

42. Why were the squids collected ?
For baiting

43. Give synonym for the word : “Partial”

Incomplete

44. Choose the correct antonym : “Disappoint”
Satisfy

45. Give one word substitute for —
“The practice of writing, editing and /or compiling dictionaries”

Lexicography

46. T HigeAl shi TR 3R HLd Y, o= = hal, “T8 7l Ieil & a1 hl sehalid! da shl gehatit
1 2 |7 wigen o § fore g gefta 2 7
el

Pointing to a woman, Nilesh said, “She is the only daughter of my wife’s grandfather’s only
child.” How is the woman related to Nilesh ?

Wife

47. 3AEA 3T B /Find odd one out :
8,27,64, 100, 125, 216, 343
100

48. 1 SFeRT, 2006 1 FIER AT | 1 S, 2010 =h1 HTE b1 ohi< 97 fed o7 ?

ehdl{
It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1, 2010 ?
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| Friday |

49. Tr=fariad a3 S feu 7u € 37X 37 el & 91e s e U g | st = g 37 fhe
T i fop few o fasenst & @ sF @1 fased g w9 9 Fa 9t ki werg feeu fan few o

T T dTfcheh T B JTELT HLAT 2 |
%A : Aot fohdTel TR § | B TR I & | S THA heiel ¢ |
e
I $S A haE & |
. 39 st IR E |
. %o fhae sHa d |
IV. %o fohare hefet 2 |
T4 9 IS A&

In the following question statements are given and these statements are followed by
conclusions. Read the conclusions and then decide which of the given conclusions logically
follows the given statements, disregarding commonly known facts.
Statements : All the books are papers. Some papers are journals. Some journals are calendars.
Conclusions:
L. Some journals are books.
II.  Some calendars are papers.
III.  Some books are journals.
IV. Some books are calendars.

None of these

50. If¢ NORMAL ! RPNLBM o &9 § shifed feham Siam @, @ GATHER k1 shig &1 81T ?

If NORMAL is coded as RPNLBM, then what is the code for GATHER ?
TBGRFH

51, Tr=foiRad o | fop €1 o ST A TaeT i Yo7 IR fhan g 2
EENECH

Which among the following country’s scientists have prepared first synthetic embryos ?
Israel

52. wumEEA Fig @ 4 FefaRed § & 6w U89 § IBX (3fea Sctvma gio =) diea
frm g ?

TsHId
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Prime Minister Narendra Modi has launched the IIBX (India International Bullion
Exchange) in which among the following states ?

Gujarat

53.

Fraferftaa © @ fopm <1 3 31, 2022 | d1E9H % TEUE YT A d 1 GO §ST S
g fepam ?
==

Which among the following countries conducted its largest-ever military exercises around
Taiwan in August, 2022 ?

China

54.

I, 2022 ®, YRA 6 UgA! 3retaret Bl o1 Igute Fferfaa o & form srat o foman mam o 2
EACEAK)

In August, 2022, India’s first underwater metro was inaugurated in which of the following
cities ?
Kolkata

55S.

A 1 4 AT, 2022 F ATk Teh RIS WA IUTE TR 1A T SIS
feam o |

Thlgellgd

The Indian Army had conducted a pan-India satellite communication exercise
named in July, 2022.

Skylight

56.

AR o bt 1 T80 o o1 “3Tehra T Sl Ugelt IS i IeTe fohal T 7
Te% § UGG

First flight of “Akasa Air” had been inaugurated between which two cities in India ?
Mumbai to Ahmedabad

57.

HATSTE! 1 3T Helcdd o ded ‘a¢ gal i Fafafed 8 @ fra S wem g g&
e 7

.
‘Badhe Chalo’ campaign under Azadi ka Amrit Mahotsav has been launched by which
among the following Central Ministry ?

Ministry of Culture

S8.

frafafaa 9 @ forg 1T 3 Wt v Senfirehl sl 31 s & foT < Al4Bharat § ieiesuf} g’
I EIMT R R ?

T dg1§

Which among the following IIT has launched the ‘Nilekani Centre at Al4Bharat’ to advance
Indian language technology ?
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IIT Madras

59.

fore Sl w=h Y sremeran O =g H Tfieh qaneti fY aeRdt 3R UER g W U TP
e TS foma T ?

AT W

A National Conference on Drug Trafficking and National Security was held at Chandigarh
under the chairmanship of which Union Minister ?

Amit Shah

60.

freaferiad § € i 91 T 9Rd § T8 SUE Sl THIE U 99 TS 7
e

Which among the following states became the first ‘Har Ghar Jal’ certified state in India ?
Goa

61.

fraforfaa & & & wra w1 oS qw AE # ¢
EAKS

Which among the following is not a neighbouring country of India ?
U.A.E.

62.

fAffaa i A e A TET I R 7
What among the following is the national currency of Hungary ?
Hungarian Forint

63.

AT o ST WTHT o STTUR I &+ A o Tget TT T AT 1Sy |
Y IS

Name the first state in India formed after independence on the basis of language.
Andhra Pradesh

64.

Sieh TWT T U ET0T s <hl =[HaH 3T 2 |
25 9

is the minimum age for holding office in the Lok Sabha.

25 years
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65. IaUsHE S fafaear feaw fora aring =t TR STaT R 7
2298

International Day for Biological Diversity is celebrated on which date ?
22 May

66. TrEfafgd d A o fava mge@ s Ad du g ?
LIESIEE)

Which among the following is the largest river island in the world ?
Majuli Island

67. Hieshl FfaiRad 7 € forag T T AR T B 7
IR e

Nautanki is a folk dance of which among the following states ?
Uttar Pradesh

68. IS Iiretftues aftrfe 1 gEaTer™ T
el

The headquarters of International Olympic Committee is at

Switzerland

69. Tr=feriaa o @ foram wftg Tk “TaE 317 ¢ Ase’ foret 8 7
Tt foreehTig
Who among the following wrote famous book ‘Powers of the Mind’ ?

Swami Vivekananda

70. UNFCCC 1 373 frmfeiRga # e o & 7
FATSEE A THHEh HraM 3T FATFHE o
UNFCCC stands for what among the following ?

United Nations Framework Convention on Climate Change

Frfafaa 1g=eg ot SIMYES Tgeht I8 & T (. 71 8 75) % W SN |

T TN o Gid I 1 & A& Hal A1 2 | Aifged &l TuTst ol IHifed i 8, I8 98
o § gviiad off grar @ | SFh | 3R g gl ehl T haT @ | Hifeey o & §H 3T
TRaeett 3fagma it THHH fierdt 8 | T I &1 anfeey 31 I < wfasfier femmd gro foreht 7
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ferell &0 o 377 wTferd Biel € | Hifeed SR shideel Tal fasTrn Siert 3R S shi foume shi g sl
1 e A e v gl L He S S e AT oy A e v S
T Sfq-fam, wT-gT 3 wustt snfe i St 91" Bidt 2 | fore et 3 e & fopm v |
I Tt T St ST oft, 37 T S AT T off, TR HHr AT, "ArTieres 37N enfifes foam A
%, 78 U9 IS 3G G0 % AIET T T TG 12 |

HTfec TS T U0l & - 388 T 9 ¢ fob Afeca Tmm 1 7 haet o e o g,
J1fuq T % Wi a8 319 g fratg oft ot @ | T O et srAfeRdn, swistRdr, fRgpar &
AT T o GEIWTE hl e oS &1 AHeTel &9 § g1 a0ey 11 ¢ | fid) |ifecd 3 3feshre 9
TR MY hTeT deh Uad TT: At TEA13T G deshlen= TuTl o1 uitfefd, foem o sl smm i
T SR T Bt 7 | 9% oft el ® T Afe dfecy areaa W shae 9IS 1 €U BIAT, 1 Shid AT
HTfEceh R THTS i foeiol a1 fogamieti W TeR 981 ohial 3R 39 ITufdr feun sy ¢ & forw off
T3 &l T | THS o Tfd e shl Circel 7T hl TR T, IcUTE o hasqaly i fesm
&1 311fe 2 | ST Tt & oot 31T deh o TR R hl T8 TRl o & 2 T guret ot s
T FHeAHN I F@e AT g Tqd i & HedTiaed %1 ThR w3t f8 7 gear 7 | anfeca & 97
1tk & S 19 qen derar 8§ off 7& gt |

71.  HIfEed 394 grfea <1 frafe fope SR g shtan @ 7
ST hl HTHA ST

72. @ifeca gh form g & quet i < SeRrl edr ® 7

TP 1 g, TRHAT, FEiq—awAaT, oSl o R, FTEIH TG qehleie dTfect gRT &
I T HhA R |

73. HITgcd shael AT I €401 1 8l & 7

Fifeh TTE g1 TSt shl forgaaredt 3R fommierli @ TER ek 370 FUR M <t SR
o R

74. & TS 1 e Ifa e w® g aehar 3 7
HTfgea 3R g

75. TR TS o Fid 379 32T i hal TRl LT ? ?
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&R R THIS § 3701 Shicll GRI ST T FIR T & IR IHTE T SHAeIaIg ol Ge
qag |

FrfaRaa 1g=eg ot SIMYES Tgeht I8 T T (7. 76 ¥ 80) % W GRT |

oI shl 3TEAT 9ith & 3 uite “Ti gdelt W oot I 1 Hiel” 8, YT 98 BN 1 A1 g,
et Frrar A T T R, S R T A A AR A T @ WM SR H AT R | T
eI, S, T, T6¥ IoAd -, 33d-33d, Wd-1id, Ted-%hed IR HH Hd gT Ig e L T
IR WET HLd-Hd e g foram 6t at feramn 3=t &1 | I8 oy vt wiger W fofe T -fa=amifon
forg gan 8 | gw ol & fore S &) forg &1 | W 3 srfeie o am fvam e R samn € dn o, <ty
T YT W = & TAF” 7 | 72 9 SR W qreaart @ T W@ B I FohdT 7, T 3R ATedn i 8]
3ad oft ydelt B | ST g Tk e R | goT-vet EreT & € 3Hh 29 g @ | wifehd Ted & el ge
T 39 <8 T 31TYS B | ITehI haol HeddT &l <hl ST Fehell & | SR <8 gRI IR 9H shl HIATEhR
FEE 8T BT | 370 370 | HGT o SUAN hl STaedehdl I 18 &1 Sl & | 361 § 3Ae81 g & doad
v} | 9T % |mA g e Ue g7 fob 31aw w31 Aol Hehel bl |y A1 3h THTHR S AT SHE
U, 98 AT ST 3T 31T &g | 35 <@ foh 7191 Hid Io W 98 3 781 9edl, qA-HI-QA W& &
ST @ | Tohe Hgeht 3TN dl 9@l g Tiihd Ugdl &l =191 | 38+ <@l foh 58 Ty i 39 a8 98 91t
T &, sfcsh Hiax & | AT SH-SH 1= BT ST § -4 I8 11D a1 A1l & I Fcd g gedl

STt |

76. TS 1 T T ATHT 6 IY W FAd THI Fehel T HHAT el HEAT ATMEY ?
Gehel shl Ted gU iRt e fordt fom 31t s@ =feT |

77.  GcF 3R 3ATEET o AT ! ‘37T hl IR W IoA o A =01 Sa=1 =18 7
e eI 3T AEET BT AT FTq-T Her 8 Ia41 & 9 2 3N 39 JF IR =T A i
2

78. TIEYT TWHIER shl Ted - TarioT shl ITH i < foTu A T sl Hehd & 7
3 gt

79. TR H “FeReTg” Sreg 1 M A1 foeliy wTeq SRE g3 B 7
U

80. T I TATI Ha I I =T ?
FGTIG 3 : TR G % AT T 37 §¢d §U 39 T T ATHTHR . |

T . 81 85 : fyaferRaa arferent =1 3tea=a i 31T 30 W 3eTid T3 o IR |

Q. Nos. 81 to 85 : Study the following table and answer the questions based on it.

few e 9wt o yfeas S & = (qr@ TR H)/
Expenditures of a Company (in Lakh Rupees) per annum over the given years
améwa / Item of Expenditure
a9 / Year qiaeT ST U ST
T / Salary S e / 9 / Bonus w /

Fuel and Transport Interest on Loans
2011 300 100 2 13.4 85

b/ Taxes
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2012 340 112 1.52 22.5 110
2013 524 105 2.84 31.6 75
2014 340 135 2.68 26.4 78
2015 450 152 2.96 39.4 88
81. 3| Al o SR Ut i Ui I <3t Y 3fiera Tl fepat et udt 7
T26.66 <9
What is the average amount of interest per year which the company had to pay during this
period ?
T 26.66 lakhs
82. < TS ATy o SR Ut GRI YTAM <l T8 S <hl et TR, 39 31l b SH T i 718
I <hl A T T ST Fehen Wi & 7
The total amount of bonus paid by the company during the given period is approximately
what percent of total amount of salary paid during this period ?
0.6%
83. 2011 % 37 |fl Wl W ot 5, 2015 H Hct AT T T feheT Tferera o7 ?
Total expenditure on all these items in 2011 was approximately what percent of the total
expenditure in 2015 ?
68.33%
84. ¥ 2013 % CIH $4 HEl W HUH! 1 et 4 fohan 8 7
T 738.44 @
What is the total expenditure of the company over these items during the year 2013 ?
T 738.44 Lakhs
85. wft aui o fofu &l W o1 =¥ 3R At auif & fofw o9 3R IiEeT W Fa =7 o & H

STATE SHAT: T =

The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately

109 : 151

U E. 86 T 90 ; Ush ATtk o Weh fed # uig R @< 37 10 et = fou fopue w @& | arferent =51 9
3T 91 o I A ¢ | (R o LT 8T (TS T o THF) i &I T T8 W@ T g 1)

Q. Nos. 86 to 90 : A person bought five cars in a day and put on rent for 10 days. Read the table
and answer the questions carefully. (Standing time for car is not taken as consideration.)

04
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e ST g S | 10 Tt o QR o gL 7 A | @l
I T TS / Mileage of Car S 3ftEd T / Average T 1Y / Total time taken to cover

amount of diesel used the total distance which is covered
per day during 10 days

Hicel / Alto 25 fm 1t /=it / km/litre 10 e / litres 50 52 / hours

T / Swift 22 fm 1t /=it / km/litre 10 e / litres 5552 / hours

fe=mN / Tiago 30 fop. 4t /oft. / km/litre 12 fieX / litres 50 &2 / hours

ot / Mini 20 fom 1t /=t / km/litre 25 #f1eT / litres 80 B¢ / hours

{8 / Kwid 25 fm 1t /=it / km/litre 20 #f1eT / litres 100 ¥ / hours

86.

10 fet o SR 3feer 3R feamm it sfted i w1 S1uTa = 2

What was the ratio of the average speed of Alto and Tiago during 10 days ?
25:36

87.

Hieel 3R fearerg fou g 10 fei < SR 1ot 3ftea T st Jr Tif & weh-ga shl 3R A1 3
w2 | e % a1, 3 TH-ga o YRS fiig Y SR AT R € | AfE e § g il o ot Y
gl 2300 foh.#f1. &, 1 el 3R s g Uh-gal & e o o1g 3T TTded e Uga H o
TSl | <hT TR T SHIFTT |

0 52T

Alto and Kwid is travelling towards each other with speed same as their average speed
during the given 10 days. After meeting, they travel to each other’s starting point. If initially
distance between both cars is 2300 km, then find difference of time taken by Alto and Kwid
to reach their destination after meeting each other.

0 hour

88.

few mu 10 fei & QuA R it gro sgeht 3htea nifa @ 875 fob. . <Y Imm @ # foe w0 o
w1 feu w10 fedi & St R feawe gra 3geht 3ied nfa @ 990 fop. /Y. <t Imm =& § fou
HHI F AT 1 1T |

Find the ratio of the time taken by car Mini to travel 875 km with the average speed of it
during the given 10 days to the time taken by car Swift to travel 990 km with the average
speed of it during the given 10 days.

56 :99
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89. wfe weft =i g 10 T & 7@ 1 78 F1 g, FR A 3R FHR B AN 150 i 3R 300 =i H
TI A &, 91 HR A 3T B sl 30Ed 7fd o s o 3T J1d shIfT |
If the total distances covered by all the cars in 10 days is covered by car A and car B in 150

hours and 300 hours respectively, then find the difference between average speeds of car A
and B.

61 fr.1ft. /9927 / km/h

90. 10 et o GRM fearmmr 3 it gRr @ <61 715 e Gt o1 STHTA FehaT & 7

What was the ratio of the total distance covered by Tiago and Mini during 10 days ?
18:25

T F. 91 95 ;: T [T AT0I@ 1 7SI B S 2001 T 2006 G B8 I81 o < Tcdeh a9 hl
JREATA H HUT | I B 3T HU DI Tt HHATET T T gATaT 2 | (I 2000 % S 7
g HHAN BT H ATHA F3TT 8 3T & Ul BISHL TR 1)

Q. Nos. 91 to 95 : Study the following line graph which gives the number of employees who
joined the company and left the company in the beginning of each year during six years, from
2001 to 2006. (There is no employee joined the company or left the company during the year
2000.)

2000 # =E=REAT  TREEE TE@ = 5000
Initial strength of Employees in 2000 = 5000
£ 800 700
@ 2 % o0 600 2260 _ZY
= = 6%
) E 400 —— - T 7 S 550
= 200 — 400 —
Z 0
2001 2002 2003 2004 2005 2006
o / Years
— AT W YTTHS B G ST ht T
Number of employees who joined company
— ST TIEA G HEATE] St e
Number of employees who left company

91. 2003 % SITH HU-1 H hRIA HHATIE! hl e of

The number of employees working in the company during 2003 was :
5000

92. ford o ¥ Tt I 1 qoT § -l B 1ol HHATIAT ohl T H Tfwrd ghg / HHt STeehan
27
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For which year, the percentage rise/fall in the number of employees who left the company
compared to the previous year is maximum ?
2002

93.

2002 § 2003 T HHATIET 3ht T H T fehaw wferera <t gfg /et 53 2

The strength of employees increased / decreased from 2002 to 2003 by approximately what
percent ?
1%

94.

2003 T U T hH Hid oA AT sl T&AT, 2006 H -l H hH L Tl HHTTET <hl
AT 1 AT fehda gfeera eff 7

The number of employees working in the company in 2003 was approximately what percent
of the number of employees working in the company in 2006 ?
96.15%

9s.

& TS Irafa & < forelt oft o § sl § Sfie 89 STl SRE=TRal Rl AaH @A I Ra
BigA ITel HHATT < eIy T | AT feha1 3 ?
The ratio of the least number of employees who joined the company to the maximum

number of employees who left company in any of the years during the given period is
9/13

TR E. 96 T 100 : T 3TT0TE T LI i 3T 3F T ST T¥1 o IR G |
Q. Nos. 96 to 100 : Study the bar graph and answer the questions based on it.

e =it # ot g faciwt @ gonen (dma #)
Production of Toys by company (in Lakhs) over the years
00

[JS I e )
==l ol
|

I (ard )

Production (in Lakhs)

20

a0 / Years

96.

2013 ¥ 2014 deh Raeii=i s 31 H e Sfeerd firere femat oft 7

What was the approximate percentage decline in the production of toys from 2013 to 2014 ?
20%

97.

2015 3T 2016 1 3Hd Icared FefeiRaa & @ fopm ot o Im & 3aa 3T o foers
TR AT 7
2012 31 2017

The average production of 2015 and 2016 was exactly equal to the average production of
which of the following pair of years ?
2012 and 2017

98.

2011 1 T H 2018 H RawiiHi o IcaTe H AT S g e off ?
What was the approximate percentage increase in production of toys in 2018 compared to
that in 2011 ?

137.5%
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99.

Tt o <1 qorT § fore Y IcdTed # wiaerd gfg qew a1faehs off 7
In which year the percentage increase in production was maximum as compared to the
previous year ?

2017

100. feu e fora ot § Raeiit o1 Scare few 71U ot & 3iHd Icarea 8 31fres o1 ?

In how many of the given years was the production of toys more than the average
production of the given years ?

4

04
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